
ÂÉÌÇÊÅ HARTMETALL

ÊÁÔÁËÏÃÏÓ
VARIOUS PRODUCTS

ËÏÉÐÙÍ ÐÑÏÚÏÍÔÙÍ
CATALOGUE



edipo 4a.qxd  21/1/2008  5:46   Page 1



edipo 4a.qxd  21/1/2008  5:46   Page 2



edipo 4a.qxd  21/1/2008  5:46   Page 3



edipo 4a.qxd  21/1/2008  5:46   Page 4



ÔÑÕÐÁÍÉÁ ÌÇ×ÁÍÇÓ - SLOT MORTISING BITS 5000

ÔÑÕÐÁÍÉÁ ÁÊÉÄÏÓ - BRAND POINT BITS 5002

5

ÊÙÄÉÊÏÓ D I L S
ÄÅÎ.DX ÁÑ.SX
5000-008 5000-108 8 75 125 16x50
5000-010 5000-110 10 85 135 16x50
5000-012 5000-112 12 95 145 16x50
5000-014 5000-114 14 95 155 16x50
5000-016 5000-116 16 105 165 16x50
5000-018 5000-118 18 125 175 16x50
5000-020 5000-120 20 130 180 16x50
5000-022 5000-122 22 135 185 16x50

Z2 KSS

S: ÄÉÁÌÅÔÑÏÓ ÊÏÔÓÁÍÉÏÕ - SHANK DIAMETER

ÊÙÄÉÊÏÓ D I L S
5002-008 8 90 120 8x30
5002-010 10 110 140 8x30
5002-012 12 125 155 8x30
5002-014 14 140 170 8x30
5002-016 16 150 180 10x30
5002-018 18 160 200 10x30
5002-020 20 160 200 10x30
5002-022 22 160 200 10x30
5002-024 24 160 200 10x30
5002-026 26 160 200 10x30
5002-028 28 160 200 10x30
5002-030 30 160 200 10x30

KSS

S: ÄÉÁÌÅÔÑÏÓ ÊÏÔÓÁÍÉÏÕ - SHANK DIAMETER

edipo 4a.qxd  21/1/2008  5:46   Page 5



6

ÐÏÔÇÑÏÔÑÕÐÁÍÁ - VIP HOLE SAW5003

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
5003-001 3834-ARBR- 630
5003-002 3834-ARBR-91100
5003-003 3834-ARBR-11152
5003-016 3830-16-VIP SAND
5003-019 3830-19-VIP SAND
5003-022 3830-22-VIP H.SAW
5003-025 3830-25-VIP H.SAW
5003-029 3830-29-VIP SAND
5003-030 3830-30-VIP SAND
5003-033 3830-33-VIP SAND
5003-035 3830-35-VIP H.SAW
5003-038 3830-38-VIP H.SAW
5003-040 3830-40-VIP SAND
5003-044 3830-44-VIP SAND
5003-048 3830-48-VIP SAND
5003-051 3830-51-VIP H.SAW
5003-054 3830-54-VIP SAND
5003-056 3830-56-VIP SAND
5003-060 3830-60-VIP H.SAW
5003-064 3830-64-VIP H.SAW
5003-065 3830-65-VIP SAND
5003-068 3830-68-VIP SAND
5003-070 3830-70-VIP H.SAW
5003-073 3830-73-VIP SAND
5003-076 3830-76-VIP H.SAW
5003-079 3830-79-VIP SAND
5003-086 3830-86-VIP SAND
5003-092 3830-92-VIP H.SAW
5003-095 3830-95-VIP SAND
5003-102 3830-102-VIP H.SAW
5003-108 3830-108-VIP SAND
5003-121 3830-121-VIP SAND
5003-127 3830-127-VIP H.SAW
5003-140 3830-140-VIP SAND
5003-152 3830-152-VIP H.SAW
5003-177 3830-177-HIGH SAND

BM M42

edipo 4a.qxd  21/1/2008  5:46   Page 6



ÐÏÔÇÑÏÔÑÕÐÁÍÁ ÃÉÁ ÔÏÕÂËÁ 5003

ÐÏÔÇÑÏÔÑÕÐÁÍÁ ÎÕËÏÕ 5003

7

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
5003-SB72030 ÊÑÏÕÓ. ÊÁÑÂÉÄ. Ö30
5003-SB72035 ÊÑÏÕÓ. ÊÁÑÂÉÄ. Ö35
5003-SB72040 ÊÑÏÕÓ. ÊÁÑÂÉÄ. Ö40
5003-SB72050 ÊÑÏÕÓ. ÊÁÑÂÉÄ. Ö50
5003-SB72066 ÊÑÏÕÓ. ÊÁÑÂÉÄ. Ö66
5003-SB72072 ÊÑÏÕÓ. ÊÁÑÂÉÄ. Ö72
5003-SB72080 ÊÑÏÕÓ. ÊÁÑÂÉÄ. Ö80
5003-SB72090 ÊÑÏÕÓ. ÊÁÑÂÉÄ. Ö90

BM M42

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
5003-STW60L22 ME ÊÁÑÂÉÄÉÏ Ö22/60
5003-STW60L25 ME ÊÁÑÂÉÄÉÏ Ö25/60
5003-STW60L27 ME ÊÁÑÂÉÄÉÏ Ö27/60
5003-STW60L30 ME ÊÁÑÂÉÄÉÏ Ö30/60
5003-STW60L35 ME ÊÁÑÂÉÄÉÏ Ö35/60
5003-STW60L40 ME ÊÁÑÂÉÄÉÏ Ö40/60
5003-STW60L45 ME ÊÁÑÂÉÄÉÏ Ö45/60
5003-STW60L50 ME ÊÁÑÂÉÄÉÏ Ö50/60
5003-STW60L55 ME ÊÁÑÂÉÄÉÏ Ö55/60
5003-STW60L60 ME ÊÁÑÂÉÄÉÏ Ö60/60
5003-STW60L65 ME ÊÁÑÂÉÄÉÏ Ö65/60
5003-STW60L70 ME ÊÁÑÂÉÄÉÏ Ö70/60
5003-STW60L75 ME ÊÁÑÂÉÄÉÏ Ö75/60
5003-STW60L80 ME ÊÁÑÂÉÄÉÏ Ö80/60
5003-STW60L85 ME ÊÁÑÂÉÄÉÏ Ö85/60
5003-STW60L90 ME ÊÁÑÂÉÄÉÏ Ö90/60
5003-STW60L95 ME ÊÁÑÂÉÄÉÏ Ö95/60
5003-STW60L100 ME ÊÁÑÂÉÄÉÏ Ö100/60
5003-STW60L105 ME ÊÁÑÂÉÄÉÏ Ö105/60
5003-STW60L110 ME ÊÁÑÂÉÄÉÏ Ö110/60
5003-STW60L115 ME ÊÁÑÂÉÄÉÏ Ö115/60

HM

edipo 4a.qxd  21/1/2008  5:46   Page 7



8

ÑÏÕÌÐÏÔÑÕÐÁÍÁ - PLUG CUTTERS5004

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ S
5004-110 10 ÊÁÂÉËÉÁ 13x50
5004-112 12 ÊÁÂÉËÉÁ 13x50
5004-114 14 ÊÁÂÉËÉÁ 13x50
5004-115 15 ÊÁÂÉËÉÁ 13x50
5004-116 16 ÊÁÂÉËÉÁ 13x50
5004-118 18 ÊÁÂÉËÉÁ 13x50
5004-120 20 ÊÁÂÉËÉÁ 13x50
5004-125 25 ÊÁÂÉËÉÁ 13x50
5004-130 30 ÊÁÂÉËÉÁ 13x50

ÔÑÕÐÁÍÉÁ ÐÏËËÁÐËÏÕ ÑÏËÏÕ - STOP GAUGE BITS5005

ÊSS

S: ÄÉÁÌÅÔÑÏÓ ÊÏÔÓÁÍÉÏÕ - SHANK DIAMETER

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
5005-5.7/6.75/105 5.7-6.75-20-105 HSS EU
5005-6.25/7.25 6.25-7.25-25-90 HSS EU
5005-6.5/7.75 6.5-7.75-25-90  HSS EU
5005-6.7/8.5 6.7-8.5-25-90    HSS EU
5005-1886-050 5/7/10x100 d8   HSS EU
5005-1892-085 3.4/4.7 d4.7x130 
5005-1892-095 3.8/5.2 d5.2x140 
5005-1892-110 4.3/5.7 d5.7x145 
5005-1892-130 5.3/6.7 d6.7x155 
5005-1892-145 5.8/7.2 d7.2x165 
5005-1892-160 6.1/7.7 d7.7x165

HSS

edipo 4a.qxd  21/1/2008  5:46   Page 8



ÊÏÍÔÕËÉÁ ÐÁÍÔÏÃÑÁÖÏÕ - ROUND CARVING BITS 5006

ÌÁ×ÁÉÑÉÁ ÎÕËÏÔÏÑÍÏÕ 5007

9

ÊÙÄÉÊÏÓ D L S
ÄÅÎ.DX ÁÑ.SX
5006-002 5006-102 2 90 11x45
5006-003 5006-103 3 90 11x45
5006-004 5006-104 4 90 11x45
5006-005 5006-105 5 90 11x45
5006-006 5006-106 6 90 11x45
5006-008 5006-108 8 90 11x45
5006-010 5006-110 10 90 11x45
5006-012 5006-112 12 90 11x45
5006-014 5006-114 14 90 11x45
5006-016 5006-116 16 90 11x45
5006-018 5006-118 18 90 11x45
5006-020 5006-120 20 90 11x45
5006-022 5006-122 22 90 11x45
5006-024 5006-124 24 90 11x45

5006-01-12° 5006-101-12° 90 11x45
5006-02-25° 5006-102-25° 90 11x45

HSS

S: ÄÉÁÌÅÔÑÏÓ ÊÏÔÓÁÍÉÏÕ - SHANK DIAMETER

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
5007-001 Á12.03 19x19x185     R0.5    HM
5007-01   Á12.01 19x19x185     R0.5  HSS
5007-03   Á12.04 19x19x185     R0.8  HSS
5007-02   Á12.06 19x19x185  ÄÉÐËÏ  HSS
5007-12   Á12.09 36x17.5x140 R1.2 INTER
5007-11   Á12.08 38x17.5x140 R0.6 INTER
5007-04   Á10.03 20x25x210   R4 HSS ÓÊ.
5007-05   Á10.04 25x25x210   R4 HSS ÓÊ.
5007-06   Á10.05 25x30x220   R4 HSS ÓÊ.
5007-07   Á10.06 30x30x220 R7.5 HSS ÓÊ.
5007-08   Á11.04 25x25x210   R4 HSS ÓÊ.
5007-09   Á11.05 25x30x220   R4 HSS ÓÊ.
5007-10   Á11.06 30x30x220 R7.5 HSS ÓÊ.

HSS

edipo 4a.qxd  21/1/2008  5:47   Page 9



10

ÌÏÑÓÏÔÑÕÐÁÍÁ - MORTISE BITS5030

ÊÙÄÉÊÏÓ D L S
5030-006-13 6 100 13x50
5030-007-13 7 100 13x50
5030-008-13 8 100 13x50
5030-009-13 9 100 13x50
5030-010-13 10 110 13x50
5030-012-13 12 110 13x50
5030-014-13 14 110 13x50
5030-016-13 16 110 13x50
5030-018-13 18 100 13x50
5030-020-13 20 100 13x50

5030-006-16 6 100 16x50
5030-007-16 7 100 16x50
5030-008-16 8 100 16x50
5030-009-16 9 100 16x50
5030-010-16 10 110 16x50
5030-012-16 12 110 16x50
5030-014-16 14 110 16x50
5030-016-16 16 110 16x50
5030-018-16 18 100 16x50
5030-020-16 20 100 16x50

ÌÏÑÓÏÔÑÕÐÁÍÁ - MORTISE BITS5031

Z4 HSS

S: ÄÉÁÌÅÔÑÏÓ ÊÏÔÓÁÍÉÏÕ - SHANK DIAMETER

ÊÙÄÉÊÏÓ D L S
ÄÅÎ.DX ÁÑ.SX
5031-006-13 5031-106-13 6 110 13x50
5031-008-13 5031-108-13 8 110 13x50
5031-010-13 5031-110-13 10 110 13x50
5031-012-13 5031-112-13 12 110 13x50
5031-014-13 5031-114-13 14 115 13x50
5031-016-13 5031-116-13 16 115 13x50
5031-018-13 5031-118-13 18 115 13x50
5031-020-13 5031-120-13 20 115 13x50

5031-006-16 5031-106-16 6 105 16x50
5031-008-16 5031-108-16 8 110 16x50
5031-010-16 5031-110-16 10 110 16x50
5031-012-16 5031-112-16 12 110 16x50
5031-014-16 5031-114-16 14 115 16x50
5031-016-16 5031-116-16 16 115 16x50
5031-018-16 5031-118-16 18 115 16x50
5031-020-16 5031-120-16 20 115 16x50

Z3 HSS

S: ÄÉÁÌÅÔÑÏÓ ÊÏÔÓÁÍÉÏÕ - SHANK DIAMETER

edipo 4a.qxd  21/1/2008  5:47   Page 10



ÌÐÁÔÆÏÕÑÏÔÑÕÐÁÍÁ - RECIPROCOATING SLOT MORTISING BITS 5033

ÌÐÁÔÆÏÕÑÏÔÑÕÐÁÍÁ - RECIPROCOATING SLOT MORTISING BITS 5034

11

ÊÙÄÉÊÏÓ D L S
5033-006-12 6 60 12x30
5033-007-12 7 60 12x30
5033-008-12 8 60 12x30
5033-009-12 9 60 12x30
5033-010-12 10 60 12x30

5033-011-12 11 60 12x30
5033-012-12 12 60 12x30
5033-014-12 14 60 12x30

Z2 HSS

Z2/Z4

S: ÄÉÁÌÅÔÑÏÓ ÊÏÔÓÁÍÉÏÕ - SHANK DIAMETER

ÊÙÄÉÊÏÓ D L S
5034-107-10 7 73 10x40
5034-108-10 8 73 10x40
5034-109-10 9 73 10x40
5034-110-10 10 73 10x40

Æ4 HSS

S: ÄÉÁÌÅÔÑÏÓ ÊÏÔÓÁÍÉÏÕ - SHANK DIAMETER

edipo 4a.qxd  21/1/2008  5:47   Page 11



12

ÔÑÕÐÁÍÉÁ ÃÉÁ ÁËÕÓÏÔÑÕÐÁÍÏ - GROOVING CUTTERS5035

ÊÙÄÉÊÏÓ D L S
5035-015 15 100 M12x1
5035-016 16 100 M12x1
5035-018 18 100 M12x1
5035-020 20 100 M12x1
5035-022 22 100 M12x1
5035-024 24 100 M12x1
5035-025 25 100 M12x1
5035-026 26 100 M12x1

ÌÏÑÓÏÔÑÕÐÁÍÁ ÃÉÁ ÁËÕÓÏÔÑÕÐÁÍÏ - MORTISE BITS5036

Æ2+2 HM

S: ÄÉÁÌÅÔÑÏÓ ÊÏÔÓÁÍÉÏÕ - SHANK DIAMETER

ÊÙÄÉÊÏÓ D L S
5036-010 10 100 M12x1
5036-012 12 100 M12x1
5036-014 14 100 M12x1
5036-015 15 100 M12x1
5036-016 16 100 M12x1
5036-017 17 100 M12x1
5036-018 18 100 M12x1
5036-020 20 100 M12x1

Æ2 HM

S: ÄÉÁÌÅÔÑÏÓ ÊÏÔÓÁÍÉÏÕ - SHANK DIAMETER

edipo 4a.qxd  21/1/2008  5:47   Page 12



ÌÏÑÓÏÔÑÕÐÁÍÁ ÃÉÁ ÁËÕÓÏÔÑÕÐÁÍÏ - SLOT AND MORTISE BORING BITS 5037

ÔÑÕÐÁÍÉÁ ÃÉÁ ÁËÕÓÏÔÑÕÐÁÍÏ - GROOVING CUTTERS 5038

13

ÊÙÄÉÊÏÓ D L S
5037-1018 10/18 155 M12x1
5037-1020 10/20 155 M12x1
5037-1022 10/22 155 M12x1
5037-1119 11/19 155 M12x1
5037-1122 11/22 155 M12x1
5037-1219 12/19 155 M12x1
5037-1222 12/22 155 M12x1

Z2 HM

S: ÄÉÁÌÅÔÑÏÓ ÊÏÔÓÁÍÉÏÕ - SHANK DIAMETER

ÊÙÄÉÊÏÓ D L S
5038-018 18 60 M12x1
5038-020 20 60 M12x1
5038-022 22 60 M12x1
5038-024 24 60 M12x1
5038-025 25 60 M12x1
5022-16-40 ÐÑÏÅÊ. ÔÑ. ÁËÕÓ. 10/40/56
5022-16-20 ÐÑÏÅÊ. ÔÑ. ÁËÕÓ. 20/60/80
5022-16-30 ÐÑÏÅÊ. ÔÑ. ÁËÕÓ. 30/60/90
5022-16-45 ÐÑÏÅÊ. ÔÑ. ÁËÕÓ. 45/60/105
5022-16-57 ÐÑÏÅÊ. ÔÑ. ÁËÕÓ. 57/70/105

Z2 HM

S: ÄÉÁÌÅÔÑÏÓ ÊÏÔÓÁÍÉÏÕ - SHANK DIAMETER

edipo 4a.qxd  21/1/2008  5:47   Page 13



14

ÁËÕÓÉÄÅÓ - CHAINS5070

ÁËÕÓÉÄÁ
ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
5070-014 6-36Á
5070-001 8-36Á
5070-002 9-36Á
5070-003 10-36Á
5070-004 11-36Á
5070-005 12-36Á
5070-006 14-36Á
5070-007 16-36Á
5070-008 17-36Á
5070-009 18-36Á
5070-013 19-36Á
5070-010 20-36Á
5070-011 22-36Á
5070-012 25-36Á
5070-030 6-48Â
5070-021 8-48Â
5070-022 9-48Â
5070-023 10-48Â
5070-024 11-48Â
5070-025 12-48Â
5070-026 14-48Â
5070-027 16-48Â
5070-028 17-48Â

ÏÄÇÃÏÓ ÁËÕÓÉÄÁÓ
ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
5071-006 6-7-40Á
5071-001 8-40Á
5071-002 9-11-40Á
5071-003 12-17-40Á
5071-004 18-21-40Á
5071-005 22-25-40Á
5071-014 6-7-30B
5071-011 8-30B
5071-012 9-11-30B
5071-013 12-17-30B
5071-015 6-7-35B
5071-021 8-35B
5071-022 9-11-35B
5071-023 12-7-35B

ÓÕÍÄÅÔÉÊÏÓ ÊÑÉÊÏÓ
ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
5074-001 8-36Á
5074-002 9-36Á
5074-003 10-36Á
5074-004 11-36Á
5074-005 12-36Á
5074-006 14-36Á
5074-007 16-36Á
5074-008 17-36Á
5074-009 18-36Á
5074-010 20-36Á
5074-011 22-36Á
5074-012 25-36Á
5074-021 8-48Â
5074-022 9-48Â
5074-023 10-48Â
5074-024 11-48Â
5074-025 12-48Â
5074-026 14-48Â
5074-027 16-48Â
5074-028 17-48Â

ÑÏÕËÅÌÁÍ ÁËÕÓÉÄÁÓ
ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
5073-006 6-7-40Á
5073-001 8-40Á
5073-002 9-11-40Á
5073-003 12-17-40Á
5073-004 18-21-40Á
5073-005 22-25-40Á
5073-014 6-7-30Â
5073-011 8-30Â
5073-012 9-11-30Â
5073-013 12-17-30Â
5073-024 6-7-35Â
5073-021 8-35Â
5073-022 9-11-35Â
5073-023 12-17-35Â
5073-045 6-7-20C
5073-031 8-20C
5073-032 9-11-20C
5073-033 12-17-20C
5073-044 6-7-25C
5073-041 8-25C
5073-042 9-11-25C
5073-043 12-17-25C

ÁÓÔÅÑÁÊÉ ÁËÕÓÉÄÁÓ
ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
5072-006 6-7-40Á
5072-001 8-40Á
5072-002 9-11-40Á
5072-003 12-17-40Á
5072-004 18-21-40Á
5072-005 22-25-40Á
5072-014 6-7-30Â
5072-011 8-30Â
5072-012 9-11-30Â
5072-013 12-17-30Â

ÄÉÐËÏ ÓÅÔ
ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
5075-004 ÄÉÐËÏ ÓÅÔ           8-  8-8x40x150Á
5075-001 ÄÉÐËÏ ÓÅÔ            8-10-8x40x150Á
5075-002 ÄÉÐËÏ ÓÅÔ          10-8-10x40x150Á
5075-003 ÄÉÐËÏ ÓÅÔ          12-8-12x40x150Á
5075-011 ÓÅÔ ÏÄÇÃ.       8x40x150Á (ÔÅÌ2)
5075-012 ÓÅÔ ÏÄÇÃ.  9-11x40x150Á (ÔÅÌ2)
5075-021 ÓÅÔ ÁÓÔÅÑ.             8x40Á (ÔÅÌ2)
5075-022 ÓÅÔ ÁÓÔÅÑ.        9-11x40Á (ÔÅÌ2)

ÌÁ×ÁÉÑÉ ÁËÕÓ/ÍÏÕ
ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
5076-010 S10 L30/35
5076-014 S14 L34/45
5076-017 S17 L55/65

ÁËÕÓÉÄÁ “Á” Æ=36, E=150 ÁËÕÓÉÄÁ “B” Æ=48, E=150

edipo 4a.qxd  21/1/2008  5:47   Page 14



edipo 4-2a.qxd  21/1/2008  7:02   Page 15



edipo 4-2a.qxd  21/1/2008  7:02   Page 16



17

6011 6012-001 6012-002 6012-003 6013-001 6013-002 6013-003 6013-004

6013-005 6013-006 6013-007 6013-008 6013-009 6013-010 6013-011 6013-012

6014-001 6014-001 6014-002 6014-003 6014-004 6014-004A 6014-005 6014-005

6014-006 6014-007 6014-008 6014-009 6014-009A 6014-010 6014-010A 6014-011

6014-011A 6014-012 6014-012A 6014-013 6014-013A 6014-014 6014-014A 6014-015

6014-016 6014-017 6014-018 6014-019 6014-020 6014-021

6014-022 6014-023 6014-024 6014-025 6014-026 6014-027 6014-028

F02 F902TT F594/F594C F545/F545C F513/F513C F532/F532CF01

F556/F556C F19C F20CF554/F554CF500/F500C

F06C F08C F10C F11C F12CF03C

F16C F255C/F258C F265C/F268C F274C/F276C F284C/F286C F294C/F296CF15CF14C

F304C/B
F306C/B

F314C/F316C F314C/B
F316C/B

F334C/F336C F334C/B
F336C/B

F245CF304C/F306CF294C/B
F296C/B

edipo 4-2a.qxd  21/1/2008  7:03   Page 17



18

6014-033 6015-001 6015-002 6015-003 6015-004 6015-005 6015-006 6015-007

6015-008 6015-009 6015-010 6015-011 6015-012 6015-013 6015-014

6015-015 6015-016 6015-017 6015-018 6015-019 6015-027
6015-028

6015-029

6015-030
6015-031

6018 6210 6210 6211

F05 F06 F09 F17 F18 F21F04

F245F212/F213F22

F201/F202

F224

F13

edipo 4-2a.qxd  21/1/2008  7:04   Page 18



ÖÏÕË ÂÉÍÔÉ ÉÓÉÏ 6011

19

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
6011-002 Ö 2x8/50 d6,35
6011-003 Ö 3x10/50 d6,35
6011-0032 Ö 3.2x9.5/45 d6,35
6011-0032-12.7 Ö 3.2x12.7/50 d6,35
6011-004 Ö 4x12/50 d6,35
6011-047 Ö 4.75x12.7/50 d6,35
6011-005 Ö 5x12/50 d6,35
6011-006 Ö 6x16/51 d6,35
6011-006-25 Ö 6x25/60 d6,35
6011-007 Ö 7x20/50 d6,35
6011-008 Ö 8x50/20 d6,35
6011-008-32 Ö 8x32/60 d6,35
6011-010-32 Ö 10x32/60 d6,35
6010-030 Ö 3x8/45 d6
6010-040 Ö 4x10/45 d6
6010-050 Ö 5x12/50 d6
6010-060 Ö 6x16/50 d6
6010-060-26 Ö 6x25.4/60 d6
6010-080 Ö 8x20/48 d6
6010-080-32 Ö 8x31.8/60 d6

edipo 4-2a.qxd  21/1/2008  7:04   Page 19



20

ÑÏÕÔÅÑ ÉÓÉÁ - STRAIGHT BITS6012-001

ÑÏÕÔÅÑ ÉÓÉÁ - STRAIGHT BITS6012-002

ÊÙÄÉÊÏÓ D L d
6012-0010031 3 46 6,35
6012-0010041 4 46 6,35
6012-0010051 5 53 6,35

F01 Z1

ÊÙÄÉÊÏÓ D L d
6012-0020061 6 46 6,35
6012-0020071 7 46 6,35
6012-0020081 8 46 6,35
6012-0020091 9 46 6,35
6012-0020101 10 46 6,35
6012-0020111 11 46 6,35
6012-0020121 12 46 6,35
6012-0020131 13 46 6,35
6012-0020141 14 46 6,35
6012-0020151 15 46 6,35
6012-0020161 16 46 6,35
6012-0020181 18 46 6,35
6012-0020201 20 46 6,35
6012-0020221 22 46 6,35

F02 Z2

edipo 4-2a.qxd  21/1/2008  7:04   Page 20



ÑÏÕÔÅÑ ÉÓÉÁ - STRAIGHT BITS 6012-003

21

ÊÙÄÉÊÏÓ D L d T
6012-00300625 6 55 9,5 25
6012-00300825 8 55 9,5 25
6012-00301025 10 55 9,5 25
6012-00301225 12 55 9,5 25
6012-00301425 14 55 9,5 25
6012-00301625 16 55 9,5 25
6012-00301825 18 55 9,5 25
6012-00302025 20 55 9,5 25
6012-00302225 22 55 9,5 25
6012-00302425 24 55 9,5 25
6012-00302525 25 55 9,5 25
6012-00301035 10 65 9,5 35
6012-00301235 12 65 9,5 35
6012-00301435 14 65 9,5 35
6012-00301635 16 65 9,5 35
6012-00301835 18 65 9,5 35
6012-00302035 20 65 9,5 35
6012-00302235 22 65 9,5 35
6012-00302435 24 65 9,5 35
6012-00302535 25 65 9,5 35
6012-00309531 9,5 72 12,7 31,8
6012-00312732 12,7 72 12,7 31,8
6012-00312738 12,7 80 12,7 38
6012-00303040 30 80 12,7 40
6012-00303240 32 80 12,7 40
6012-00303540 35 80 12,7 40
6012-00304040 40 80 12,7 40
6012-00301255 12 100 12,7 55
6012-00301256 12 100 12 55
6012-00312755127 12,7 100 12,7 55

F902TT

edipo 4-2a.qxd  21/1/2008  7:04   Page 21



22

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6013-001

ÊÙÄÉÊÏÓ ÊÙÄÉÊÏÓ D L d
6013-0010191C 6013-0010191 19 50 6,35
6013-0010302C 6013-0010302 30 62 9,5
6013-0010372C 6013-0010372 37 62 9,5

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6013-002

F594C

ÊÙÄÉÊÏÓ ÊÙÄÉÊÏÓ D L d
6013-0020191C 6013-0020191 19 50 6,35
6013-0020302C 6013-0020302 30 62 9,5
6013-0020372C 6013-0020372 37 62 9,5

F545C

edipo 4-2a.qxd  21/1/2008  7:04   Page 22



ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6013-003

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6013-004

23

ÊÙÄÉÊÏÓ ÊÙÄÉÊÏÓ D L d
6013-0030191C 6013-0030191 19 50 6,35
6013-0030302C 6013-0030302 30 62 9,5
6013-0030372C 6013-0030372 37 62 9,5

F513C

ÊÙÄÉÊÏÓ ÊÙÄÉÊÏÓ D L d
6013-0040191C 6013-0040191 19 50 6,35
6013-0040302C 6013-0040302 30 62 9,5
6013-0040372C 6013-0040372 37 62 9,5

F532C

edipo 4-2a.qxd  21/1/2008  7:04   Page 23



24

ÑÏÕÔÅÑ ÌÏÑÖÇÓ MOÑÉÏÓÁÍÉÄÙÍ - ROUTER PANEL GROOVING 6013-005

ÊÙÄÉÊÏÓ ÊÙÄÉÊÏÓ D L d
6013-0050191C 6013-0050191 19 50 6,35
6013-0050302C 6013-0050302 30 62 9,5
6013-0050372C 6013-0050372 37 62 9,5

ÑÏÕÔÅÑ ÌÏÑÖÇÓ MOÑÉÏÓÁÍÉÄÙÍ - ROUTER PANEL GROOVING 6013-006

F500C

F554C

ÊÙÄÉÊÏÓ ÊÙÄÉÊÏÓ D L d
6013-0060191C 6013-0060191 19 50 6,35
6013-0060302C 6013-0060302 30 62 9,5
6013-0060372C 6013-0060372 37 62 9,5

edipo 4-2a.qxd  21/1/2008  7:04   Page 24



ÑÏÕÔÅÑ ÌÏÑÖÇÓ MOÑÉÏÓÁÍÉÄÙÍ - ROUTER PANEL GROOVING 6013-007

ÑÏÕÔÅÑ ÌÏÑÖÇÓ MOÑÉÏÓÁÍÉÄÙÍ - ROUTER PANEL GROOVING 6013-008

25

ÊÙÄÉÊÏÓ ÊÙÄÉÊÏÓ D L d
6013-0070191C 6013-0070191 19 50 6,35
6013-0070302C 6013-0070302 30 62 9,5
6013-0070372C 6013-0070372 37 62 9,5

F556C

ÊÙÄÉÊÏÓ ÊÙÄÉÊÏÓ D L d
6013-0080191C 6013-0080191 19 50 6,35
6013-0080302C 6013-0080302 30 62 9,5
6013-0080372C 6013-0080372 37 62 9,5

edipo 4-2a.qxd  21/1/2008  7:04   Page 25



26

ÑÏÕÔÅÑ ÌÏÑÖÇÓ MOÑÉÏÓÁÍÉÄÙÍ - ROUTER PANEL GROOVING6013-009

ÊÙÄÉÊÏÓ ÊÙÄÉÊÏÓ D L d R
6013-0090161C 6013-0090161 16 50 6,35 8
6013-0090191C 6013-0090191 19 50 6,35 9,5

ÑÏÕÔÅÑ ÌÏÑÖÇÓ MOÑÉÏÓÁÍÉÄÙÍ - ROUTER PANEL GROOVING 6013-010

ÊÙÄÉÊÏÓ D B L d
6013-0100161C 25 16 55 6,35
6013-0100191C 25 19 60 6,35
6013-0100231C 25 23 60 6,35

F19C

edipo 4-2a.qxd  21/1/2008  7:04   Page 26



ÑÏÕÔÅÑ ÌÏÑÖÇÓ MOÑÉÏÓÁÍÉÄÙÍ - ROUTER PANEL GROOVING 6013-011

ÑÏÕÔÅÑ ÌÏÑÖÇÓ MOÑÉÏÓÁÍÉÄÙÍ - ROUTER PANEL GROOVING 6013-012

27

ÊÙÄÉÊÏÓ ÊÙÄÉÊÏÓ D L d
6013-0110191C 6013-0110191 19 50 6,35
6013-0110302C 6013-0110302 30 62 9,5
6013-0110372C 6013-0110372 37 62 9,5

ÊÙÄÉÊÏÓ D B L d
6013-0120191C 19 22 60 6,35
6013-0120282C 28 40 80 9,5

F20C

edipo 4-2a.qxd  21/1/2008  7:05   Page 27



28

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-001

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-002

ÊÙÄÉÊÏÓ D L d B a
6014-0010251 25 50 6,35 12,7 6
6014-001033 33 54 6,35 16 9,5
6014-0010331 33 50 6,35 12,7 10
6014-0010332 33 56 6,35 20 10
6014-0010401 40 50 6,35 12,7 13,5

6014-001081 31,8 46 6,35 7,9 9,6
6014-0011271 31,8 50,7 6,35 12,7 9
6014-001481 31,8 42,8 6,35 4,8 9,4
6014-001041 41,3 42 6,35 4 13,5

F03C

ÊÙÄÉÊÏÓ D R L d
6014-0020031 19 3 43 6,35
6014-0020041 22,5 4 46 6,35
6014-0020051 25 5 50 6,35
6014-0020061 27 6 55 6,35
6014-0020254 37 12,7 82 12,7
6014-002324 47 16 92 12,7
6014-0020384 54 19 96 12,7

F06C

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-003

ÊÙÄÉÊÏÓ D R L d
6014-0030051 23,5 5 50 6,35
6014-0030071 28,5 7 50 6,35
6014-0030101 32 10 50 6,35
6014-0030131 34,5 13 50 6,35

F08C

B

B

C

C

edipo 4-2a.qxd  21/1/2008  7:05   Page 28



ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-004

29

ÊÙÄÉÊÏÓ R L d
6014-0040031 3 50 6,35
6014-0040051 5 50 6,35
6014-0040651 6,5 50 6,35
6014-0040071 7 50 6,35
6014-0040081 8 50 6,35
6014-0040101 10 53 6,35
6014-0040131 13 58 6,35
6014-0040161 16 60 9,5
6014-0040181 18 63 9,5
6014-0040201 20 66 9,5
6014-0042254 22,5 12,7
6014-0040254 25 77 12,7
6014-0040354 28,6 80 12,7
6014-0040304 32 90 12,7

F10C

edipo 4-2a.qxd  21/1/2008  7:05   Page 29



30

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-004A

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-005

ÊÙÄÉÊÏÓ R L d
6014-0041031 3 50 6,35
6014-0041051 5 50 6,35
6014-0041061 6 50 6,35
6014-0041651 6,5 50 6,35
6014-0041081 8 50 6,35
6014-0041101 10 53 6,35
6014-0041131 13 58 6,35
6014-0041161 16 60 9,5
6014-0041181 18 63 9,5
6014-0041201 20 66 9,5

F11C

ÊÙÄÉÊÏÓ D L d B ÌÏÉÑÅÓ
6014-0050311 31 32 6,35 13 45°
6014-0050401 40 36 6,35 16,2 45°
6014-0050573 57 60 12,7 27 45°
6014-005-15 18 52,5 6,35 9,5 15°
6014-005-22 20 53 6,35 9,5 22°
6014-005-30 25 52,5 6,35 9,5 30°

F12C

edipo 4-2a.qxd  21/1/2008  7:05   Page 30



ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-006

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-007

31

ÊÙÄÉÊÏÓ R L d Â
6014-0060031 3 43 6,35 11
6014-0060051 4 53 6,35 15
6014-0060061 6 56 6,35 18

F14C

ÊÙÄÉÊÏÓ D L d
6014-0070101 10 65 6,35
6014-0070131 13 65 6,35
6014-0070191 19 65 6,35
6014-0070123 12,7 90 12,7

F15C

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-008

ÊÙÄÉÊÏÓ D L d
6014-0080191 19 54 6,35

F16C

edipo 4-2a.qxd  21/1/2008  7:05   Page 31



32

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-009

ÊÙÄÉÊÏÓ R L d
6014-0090051 5 45 6,35
6014-0090081 8 56 6,35

F255C
F258C

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-009A

ÊÙÄÉÊÏÓ R L d
6014-0091051 5 45 6,35
6014-0091081 8 56 6,35

F265C
F268C

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-010

ÊÙÄÉÊÏÓ R L d
6014-0100041 4 52 6,35
6014-0100061 6 56 6,35

F274C
F276C

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-010A

ÊÙÄÉÊÏÓ R L d
6014-0101041 4 52 6,35
6014-0101061 6 56 6,35

F284C
F286C

edipo 4-2a.qxd  21/1/2008  7:05   Page 32



ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-011

33

ÊÙÄÉÊÏÓ R L d
6014-0110041 4 52 6,35
6014-0110061 6 56 6,35

F294C
F296C

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-011A

ÊÙÄÉÊÏÓ R L d
6014-0111041 4 52 6,35
6014-0111061 6 56 6,35

F294C/B
F296C/B

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-012

ÊÙÄÉÊÏÓ R L d
6014-0120041 4 52 6,35
6014-0120061 6 56 6,35

F304C
F306C

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-012A

ÊÙÄÉÊÏÓ R L d
6014-0121041 4 52 6,35
6014-0121061 6 56 6,35

F304C/B
F306C/B

edipo 4-2a.qxd  21/1/2008  7:05   Page 33



34

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-013

ÊÙÄÉÊÏÓ R L d
6014-0130041 4 52 6,35
6014-0130061 6 56 6,35

F314C
F316C

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-013A

ÊÙÄÉÊÏÓ R L d
6014-0131041 4 52 6,35
6014-0131061 6 56 6,35

F314C/B
F316C/B

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-014

ÊÙÄÉÊÏÓ R L d
6014-0140041 4 52 6,35
6014-0140061 6 56 6,35

F334C
F336C

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-014A

ÊÙÄÉÊÏÓ R L d
6014-0141041 4 52 6,35
6014-0141061 6 56 6,35

F334C/B
F336C/B

edipo 4-2a.qxd  21/1/2008  7:05   Page 34



ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-015

35

ÊÙÄÉÊÏÓ D L d
6014-0150401 40 52 6,35

F245C

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-016

ÊÙÄÉÊÏÓ R L d
6014-0160041 4 47 6,35
6014-0160051 5 49 6,35
6014-0160061 6 51 6,35
6014-0160752 7,5 54 9,5
6014-0160102 10 60 9,5

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-017

ÊÙÄÉÊÏÓ D L d
6014-0170353 35 86 12,7

edipo 4-2b.qxd  21/1/2008  5:53   Page 35



36

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-018

ÊÙÄÉÊÏÓ D L d
6014-0180323 32 87 12,7

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-019

ÊÙÄÉÊÏÓ D L d
6014-0190323 32 87 12,7

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-020

ÊÙÄÉÊÏÓ D L d
6014-0200903 90 68 12,7

edipo 4-2b.qxd  21/1/2008  5:53   Page 36



ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-021

37

ÊÙÄÉÊÏÓ D L d
6014-0210663 66 69 12,7

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-022

ÊÙÄÉÊÏÓ D L d
6014-0220693 69 64 12,7

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-023

ÊÙÄÉÊÏÓ D L d
6014-0230633 63 69 12,7

edipo 4-2b.qxd  21/1/2008  5:53   Page 37



38

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-024

ÊÙÄÉÊÏÓ D L d
6014-0240543 54 96 12,7

edipo 4-2b.qxd  21/1/2008  5:53   Page 38



ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-025

39

ÊÙÄÉÊÏÓ D L d
6014-0250283 28,6 60 12,7

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-026

ÊÙÄÉÊÏÓ D L d
6014-0260251 25 60 6,35

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6014-027

ÊÙÄÉÊÏÓ D L d
6014-0270171 17,5 60 6,35
6014-0270233 23,8 75 12,7

edipo 4-2b.qxd  21/1/2008  5:53   Page 39



40

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-028

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6014-033

ÊÙÄÉÊÏÓ D L d
6014-0280443 44,5 66 12,7

ÊÙÄÉÊÏÓ D R L d B
6014-330011-R3 22,2 3 46 6,35 9
6014-330021-R5 25,4 5 50 6,35 12,7
6014-330031-R8 28,6 8 53 6,35 16
6014-330041-R10 35 10 59 3,65 22,2

edipo 4-2b.qxd  21/1/2008  5:53   Page 40



ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6015-001

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6015-003

41

ÊÙÄÉÊÏÓ D L d Â ÌÏÉÑÅÓ
6015-0010451 14 42 6,35 16 45°
6015-0010221 14 47 6,35 29 22,5°
6015-00101945 19 50 6,35 15,9 45°
6015-00102545 25,4 60 12,7 19 45°

F04

ÊÙÄÉÊÏÓ D R L d B
6015-0030031 20 3 44 6,35 16,5
6015-0030041 20 4 47 6,35 16,5
6015-0030051 22 5 50 6,35 19,5
6015-0030061 29 6 53 6,35 22,5

F06

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6015-002

ÊÙÄÉÊÏÓ D L d ÌÏÉÑÅÓ
6015-0020141 14 45 6,35 9°

F05

edipo 4-2b.qxd  21/1/2008  5:53   Page 41



42

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6015-004

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6015-005

ÊÙÄÉÊÏÓ D R L d B
6015-0040041 12,5 4 40 6,35 8,5
6015-0040051 16,5 5 40 6,35 9
6015-0040061 18,5 6 42 6,35 12
6015-0040081 22 8 45 6,35 12
6015-0040101 26 10 45 6,35 15,5

F09

ÊÙÄÉÊÏÓ D L d a b
6015-0050061 6 60 6,35 20 33
6015-0050081 8 69 6,35 21 40

F17

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6015-006

ÊÙÄÉÊÏÓ D L d a b c
6015-0060061 6 68 6,35 15 39,5 17,5
6015-0060081 8 76 6,35 15,5 40 17,5

F18

edipo 4-2b.qxd  21/1/2008  5:53   Page 42



ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6015-007

43

ÊÙÄÉÊÏÓ D L d a B c Z
6015-007-0121 12 46 6,35 4,8 11 5 Z1 A
6015-007-2223 22 66 9,5 9,5 20 17/12 Z2 B
6015-007-0172 26 60 9,5 8 21 9,5 Z2 B
6015-007-0303 28 67 12,7 8 20 9,5 Z2 B
6015-00732 32 66 10 9,0 14,5 10,6 Z2 B
6015-00733 33 66 10 9,5 16 10,6 Z2 B
6015-00734 34 66 10 8,6 16 10,6 Z2 B

F21

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6015-008

ÊÙÄÉÊÏÓ D L d
6015-008 3 55 6,35

F22

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6015-009

ÊÙÄÉÊÏÓ D L d
6015-0090131 13 50 6,35
6015-0090201 20 52 6,35

F212/F213

B A

edipo 4-2b.qxd  21/1/2008  5:53   Page 43



44

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6015-010

ÊÙÄÉÊÏÓ D L d ÌÏÉÑÅÓ
6015-010 28 50 6,35

F245

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6015-011

ÊÙÄÉÊÏÓ D R L d
6015-0110281 25 6,5 41 6,35

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6015-012

ÊÙÄÉÊÏÓ D L d
6015-0120193 19 57 12,7
6015-0120383 38 59 12,7

edipo 4-2b.qxd  21/1/2008  5:53   Page 44



ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6015-013

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6015-014

45

ÊÙÄÉÊÏÓ D L d
6015-0130683 68 68 12,7

ÊÙÄÉÊÏÓ D L d
6015-0140473 47 66 12,7

edipo 4-2b.qxd  21/1/2008  5:53   Page 45



46

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6015-015

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6015-016

ÊÙÄÉÊÏÓ D B d Z
6015-015015B 40 1,5 8 2
6015-015020B 40 2 8 2
6015-015025Â 40 2,5 8 2
6015-015030B 40 3 8 2
6015-015040B 40 4 8 2
6015-015050Â 40 5 8 2
6015-015060B 40 6 8 2
6015-015040B-508 50,8 4 8 4
6015-015060B-508 50,8 6 8 4
6015-015Á ÑÏÕÔÅÑ - ÁÎÏÍÁÓ 6,35

ÊÙÄÉÊÏÓ D L d B
6015-0160081 8 55 6,35 9

edipo 4-2b.qxd  21/1/2008  5:53   Page 46



ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6015-017

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6015-019

47

ÊÙÄÉÊÏÓ D L d
6015-017201 54 72 12,7
6015-017204 54 72 12,7
6015-017206 54 73 12,7
6015-017208 67 74 12,7
6015-017210 54 75 12,7

ÊÙÄÉÊÏÓ R B L d
6015-0190081 8 18 55 6,35
6015-0190101 10 22 60 6,35

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT 6015-018

ÊÙÄÉÊÏÓ D L d
6015-0180151 15,8 50 6,35
6015-0180951 9,5 42 6,35

edipo 4-2b.qxd  21/1/2008  5:53   Page 47



48

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6015-027

ÊÙÄÉÊÏÓ D L d
6015-027 10 47 6,35
6015-028 13 47 6,35

F201
F202

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6015-029

ÊÙÄÉÊÏÓ D L d
6015-029 20 52 6,35

F224

ÑÏÕÔÅÑ ÌÏÑÖÇÓ - GROOVING BIT6015-030

ÊÙÄÉÊÏÓ R L d
6015-030 3 52 6,35
6015-031 4 52 6,35

F13

edipo 4-2b.qxd  21/1/2008  5:53   Page 48



ÑÏÕËÅÌÁÍ ÃÉÁ ÑÏÕÔÅÑ - ROUTER BEARINGS 6018

49

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
6018-001 30x10x10 ZZ
6018-002 28x12 ZZ
6018-003 37x12x12 ZZ
6018-004 35x15x11 ZZ
6018-025 9x4x4 684 ZZ
6018-008 10x4x4 684 ZZ
6018-009 10x3x4 623 ZZ
6018-019 13x5x4 695 ZZ
6018-006 13x4x5 624 ZZ
6018-010 19x7x6 607 ZZ
6018-017 9,5x4,76x3,2 ZZ
6018-018 12,7x4,76x5 ZZ
6018-021 19,05x6,35x7,14 ZZ
6018-022 15,88x6,35x5 ZZ
6018-023 19x6x6 ZZ
6018-011 62x35x14 ZZ
6018-012 80x50x16 ZZ
6018-013 90x50x20 ZZ

ÓÖÕÃÊÔÇÑÅÓ - SWIT BLOCKING TOOLS 6020

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
6020-200 A 200
6020-240 Á 240
6020-400 Á 400
6020-600 Á 600
6020-700 Á 700

ÌÕÔÅÓ - BITS 6022

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
6022-002 7012 1x25 OTI
6022-003 7012 2x25 OTI
6022-001 7012 3x25 OTI
6022-005 7012 1x25 PZ
6022-006 7012 2x25 PZ
6022-007 7012 3x25 PZ
6022-014 7012 2x25 DURA
6022-008 7012 1x25 INKRA
6022-009 7012 2x25 INKRA
6022-010 7012 3x25 INKRA
6022-011 7012 1x50 ZOT
6022-012 7012 2x50 ZOT
6022-013 7012 3x50 ZOT
6022-018 7048 2x75 ÔÅÔÑÁÃ.
6022-016 7048 1x50 ÔÅÔÑÁÃ.
6022-015 7048 2x50 ÔÅÔÑÁÃ.
6022-017 7048 3x50 ÔÅÔÑÁÃ.
6022-051 7149-921S ÁÕÔÏÌ.ÔÓÏÊ
6022-052 7113 1/4´´ S HALTER

edipo 4-2b.qxd  21/1/2008  5:53   Page 49



50

ÊÏËÅÔÓ ÉÓÉÁ ÑÏÕÔÅÑ6210

ÊÏËÅÔÓ ÑÏÕÔÅÑ BOSCH6211

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
6016-039 Ö 6,35
6016-040 Ö 8
6016-041 Ö 9,5
6016-01-001 ÔÓÏÊ Ì12x1
6016-046 Ö 16  24x48 LIVITSIBILI
6016-048 Ö 16  25x48 LIVITSIBILI

ÊÏËÅÔÓ ÉÓÉÁ ÑÏÕÔÅÑ6210

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
6016-001 3-6
6016-003 3-6,35
6016-002 4-6
6016-004 4-6,35
6016-006 6-8
6016-007 6-9,5
6016-008 6-10
6016-009 6-12
6016-010 6,35-8
6016-011 6,35-9,5
6016-012 6,35-12
6016-013 6,35-12,7
6016-014 8-9,5
6016-015 8-10
6016-016 8-12
6016-017 8-12,7
6016-018 9,5-12
6016-019 9,5-12,7
6016-020 10-12
6016-021 10-12,7
6016-022 13-16

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
6016-023 6,35  BOSCH 608570101
6016-025 6,35  BOSCH 608570104
6016-024 8       BOSCH 608570102
6016-031 8       BOSCH 608570111
6016-032 8       BOSCH 608570105
6016-030 1/2”   BOSCH 608570114
6016-029 1/2”   BOSCH 608570108
6016-026 1/4”   BOSCH 608570110
6016-027 3/8”   BOSCH 608570112
6016-028 3/8”   BOSCH 608570106

edipo 4-2b.qxd  21/1/2008  5:54   Page 50



ÑÏÕÔÅÑ ÌÏÑÖÇÓ ÃÉÁ CORIAN - CORIAN GROOVING BIT 6014-004CRN

51

ÊÙÄÉÊÏÓ D L d
6014-0040031CRN 3 50 6,35
6014-0040051CRN 5 50 6,35
6014-0040651CRN 6,5 50 6,35
6014-0040071CRN 7 50 6,35
6014-0040081CRN 8 50 6,35
6014-0040101CRN 10 53 6,35
6014-0040131CRN 13 58 6,35
6014-0040161CRN 16 60 9,5
6014-0040181CRN 18 63 9,5
6014-0040201CRN 20 66 9,5
6014-0042254CRN 22,5 12,7
6014-0040254CRN 25 77 12,7
6014-0040354CRN 28,6 80 12,7
6014-0040304CRN 32 90 12,7

Ñïýôåñ ãéá Corian HW Trimming Cutter Z2 for Corian

• ÅéäéêÞ óåéñÜ ñïýôåñ äéáìïñöù-
ìÝíùí ãéá Corian, ðïõ êáèéóôÜ äõ-
íáôÞ ôçí áðïôåëåóìáôéêÞêáé êáé
áêñéâÞ åðåîåñãáóßá ôïõ õëéêïý áõ-
ôïý.
Ç HW ðïéüôçôá êáé ç ãåùìåôñßá
ôïõ ìá÷áéñéïý áêïëïõèåß ôéò ðñï-
äéáãñáöÝò ôçò Avonit, Sovell,
Noblan êëð.
• Åßíáé áðáñáßôçôç ç åðéëïãÞ ìé-
êñüôåñçò ôá÷ýôçôáò ðåñéóôñïöÞò
áðü áõôÞ ðïõ ÷ñçóéìïðïéåßôáé óôï
îýëï

• A series of cutters, specially
developed for working Corian,
enabled effective and precise
machining of these and similar
materials. The HW quality and knife
geometry are also suited to the suit-
ed to the specific properties of
Avonit, Sovell, Noblan etc.
• A lower rotation speed must be
selected than for wood working
usual

edipo 4-2b.qxd  21/1/2008  5:54   Page 51



52

ÑÏÕÔÅÑ ÌÏÑÖÇÓ ÃÉÁ CORIAN - CORIAN GROOVING BIT 6014-007CRN

ÑÏÕÔÅÑ ÌÏÑÖÇÓ ÃÉÁ CORIAN - CORIAN GROOVING BIT 6014-026CRN

ÊÙÄÉÊÏÓ D L d
6014-0260251CRN 25 60 6,35

ÊÙÄÉÊÏÓ D L d
6014-0070101CRN 10 65 6,35
6014-0070131CRN 13 65 6,35
6014-0070191CRN 19 65 6,35
6014-0070123CRN 12,7 90 12,7

Ñïýôåñ ãéá Corian HW Trimming Cutter Z2 for Corian

• ÅéäéêÞ óåéñÜ ñïýôåñ äéáìïñöù-
ìÝíùí ãéá Corian, ðïõ êáèéóôÜ äõ-
íáôÞ ôçí áðïôåëåóìáôéêÞêáé êáé
áêñéâÞ åðåîåñãáóßá ôïõ õëéêïý áõ-
ôïý.
Ç HW ðïéüôçôá êáé ç ãåùìåôñßá
ôïõ ìá÷áéñéïý áêïëïõèåß ôéò ðñï-
äéáãñáöÝò ôçò Avonit, Sovell,
Noblan êëð.
• Åßíáé áðáñáßôçôç ç åðéëïãÞ ìé-
êñüôåñçò ôá÷ýôçôáò ðåñéóôñïöÞò
áðü áõôÞ ðïõ ÷ñçóéìïðïéåßôáé óôï
îýëï

• A series of cutters, specially
developed for working Corian,
enabled effective and precise
machining of these and similar
materials. The HW quality and knife
geometry are also suited to the suit-
ed to the specific properties of
Avonit, Sovell, Noblan etc.
• A lower rotation speed must be
selected than for wood working
usual

Ñïýôåñ ãéá Corian HW Trimming Cutter Z2 for Corian

• ÅéäéêÞ óåéñÜ ñïýôåñ äéáìïñöù-
ìÝíùí ãéá Corian, ðïõ êáèéóôÜ äõ-
íáôÞ ôçí áðïôåëåóìáôéêÞêáé êáé
áêñéâÞ åðåîåñãáóßá ôïõ õëéêïý áõ-
ôïý.
Ç HW ðïéüôçôá êáé ç ãåùìåôñßá
ôïõ ìá÷áéñéïý áêïëïõèåß ôéò ðñï-
äéáãñáöÝò ôçò Avonit, Sovell,
Noblan êëð.
• Åßíáé áðáñáßôçôç ç åðéëïãÞ ìé-
êñüôåñçò ôá÷ýôçôáò ðåñéóôñïöÞò
áðü áõôÞ ðïõ ÷ñçóéìïðïéåßôáé óôï
îýëï

• A series of cutters, specially
developed for working Corian,
enabled effective and precise
machining of these and similar
materials. The HW quality and knife
geometry are also suited to the suit-
ed to the specific properties of
Avonit, Sovell, Noblan etc.
• A lower rotation speed must be
selected than for wood working
usual

edipo 4-2b.qxd  21/1/2008  5:54   Page 52



ÑÏÕÔÅÑ ÌÏÑÖÇÓ ÃÉÁ CORIAN - CORIAN GROOVING BIT 6014-034CRN

ÑÏÕÔÅÑ ÌÏÑÖÇÓ ÃÉÁ CORIAN - CORIAN GROOVING BIT 6014-035CRN

53

ÊÙÄÉÊÏÓ D L d
6014-0340321CRN 32 81 6,35

Ñïýôåñ ãéá Corian HW Trimming Cutter Z2 for Corian

• ÅéäéêÞ óåéñÜ ñïýôåñ äéáìïñöù-
ìÝíùí ãéá Corian, ðïõ êáèéóôÜ äõ-
íáôÞ ôçí áðïôåëåóìáôéêÞêáé êáé
áêñéâÞ åðåîåñãáóßá ôïõ õëéêïý áõ-
ôïý.
Ç HW ðïéüôçôá êáé ç ãåùìåôñßá
ôïõ ìá÷áéñéïý áêïëïõèåß ôéò ðñï-
äéáãñáöÝò ôçò Avonit, Sovell,
Noblan êëð.
• Åßíáé áðáñáßôçôç ç åðéëïãÞ ìé-
êñüôåñçò ôá÷ýôçôáò ðåñéóôñïöÞò
áðü áõôÞ ðïõ ÷ñçóéìïðïéåßôáé óôï
îýëï

• A series of cutters, specially
developed for working Corian,
enabled effective and precise
machining of these and similar
materials. The HW quality and knife
geometry are also suited to the suit-
ed to the specific properties of
Avonit, Sovell, Noblan etc.
• A lower rotation speed must be
selected than for wood working
usual

ÊÙÄÉÊÏÓ D L d
6014-0350223CRN 22,2 78 12,7

Ñïýôåñ ãéá Corian HW Trimming Cutter Z2 for Corian

• ÅéäéêÞ óåéñÜ ñïýôåñ äéáìïñöù-
ìÝíùí ãéá Corian, ðïõ êáèéóôÜ äõ-
íáôÞ ôçí áðïôåëåóìáôéêÞêáé êáé
áêñéâÞ åðåîåñãáóßá ôïõ õëéêïý áõ-
ôïý.
Ç HW ðïéüôçôá êáé ç ãåùìåôñßá
ôïõ ìá÷áéñéïý áêïëïõèåß ôéò ðñï-
äéáãñáöÝò ôçò Avonit, Sovell,
Noblan êëð.
• Åßíáé áðáñáßôçôç ç åðéëïãÞ ìé-
êñüôåñçò ôá÷ýôçôáò ðåñéóôñïöÞò
áðü áõôÞ ðïõ ÷ñçóéìïðïéåßôáé óôï
îýëï

• A series of cutters, specially
developed for working Corian,
enabled effective and precise
machining of these and similar
materials. The HW quality and knife
geometry are also suited to the suit-
ed to the specific properties of
Avonit, Sovell, Noblan etc.
• A lower rotation speed must be
selected than for wood working
usual

edipo 4-2b.qxd  21/1/2008  5:54   Page 53



54

ÑÏÕÔÅÑ ÌÏÑÖÇÓ ÃÉÁ CORIAN - CORIAN GROOVING BIT 6014-036CRN

ÑÏÕÔÅÑ ÌÏÑÖÇÓ ÃÉÁ CORIAN - CORIAN GROOVING BIT 6013-012CRN

ÊÙÄÉÊÏÓ D R L d
6014-0360511CRN 51 12,7 63,5 6,35
6014-0360571CRN 57 19 76 6,35

Ñïýôåñ ãéá Corian HW Trimming Cutter Z2 for Corian

• ÅéäéêÞ óåéñÜ ñïýôåñ äéáìïñöù-
ìÝíùí ãéá Corian, ðïõ êáèéóôÜ äõ-
íáôÞ ôçí áðïôåëåóìáôéêÞêáé êáé
áêñéâÞ åðåîåñãáóßá ôïõ õëéêïý áõ-
ôïý.
Ç HW ðïéüôçôá êáé ç ãåùìåôñßá
ôïõ ìá÷áéñéïý áêïëïõèåß ôéò ðñï-
äéáãñáöÝò ôçò Avonit, Sovell,
Noblan êëð.
• Åßíáé áðáñáßôçôç ç åðéëïãÞ ìé-
êñüôåñçò ôá÷ýôçôáò ðåñéóôñïöÞò
áðü áõôÞ ðïõ ÷ñçóéìïðïéåßôáé óôï
îýëï

• A series of cutters, specially
developed for working Corian,
enabled effective and precise
machining of these and similar
materials. The HW quality and knife
geometry are also suited to the suit-
ed to the specific properties of
Avonit, Sovell, Noblan etc.
• A lower rotation speed must be
selected than for wood working
usual

ÊÙÄÉÊÏÓ D B L d
6013-0120191CRN 19 22 60 6,35
6013-0120282CRN 28 40 80 9,5

Ñïýôåñ ãéá Corian HW Trimming Cutter Z2 for Corian

• ÅéäéêÞ óåéñÜ ñïýôåñ äéáìïñöù-
ìÝíùí ãéá Corian, ðïõ êáèéóôÜ äõ-
íáôÞ ôçí áðïôåëåóìáôéêÞêáé êáé
áêñéâÞ åðåîåñãáóßá ôïõ õëéêïý áõ-
ôïý.
Ç HW ðïéüôçôá êáé ç ãåùìåôñßá
ôïõ ìá÷áéñéïý áêïëïõèåß ôéò ðñï-
äéáãñáöÝò ôçò Avonit, Sovell,
Noblan êëð.
• Åßíáé áðáñáßôçôç ç åðéëïãÞ ìé-
êñüôåñçò ôá÷ýôçôáò ðåñéóôñïöÞò
áðü áõôÞ ðïõ ÷ñçóéìïðïéåßôáé óôï
îýëï

• A series of cutters, specially
developed for working Corian,
enabled effective and precise
machining of these and similar
materials. The HW quality and knife
geometry are also suited to the suit-
ed to the specific properties of
Avonit, Sovell, Noblan etc.
• A lower rotation speed must be
selected than for wood working
usual

edipo 4-2b.qxd  21/1/2008  5:54   Page 54



edipo 4-3.qxd  21/1/2008  6:01   Page 55



edipo 4-3.qxd  21/1/2008  6:01   Page 56



ËÉÌÅÓ ÓÏÕÇÄÉÁÓ OBERG 3506

ÖÅËÏÓ 3590

57

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3506-886 4-186-04-2-0
3506-792 4-192-07-2-0
3506-795 4-195-07-2-0
3506-885 4-185-08-2-0
3506-892 4-192-08-2-0
3506-895 4-195-08-2-0
3506-202 4-202-85-2-0-ÌÇ×.
3506-203 4-203-85-2-0-ÌÇ×.
3506-204 4-204-85-2-0-ÌÇ×.

Óõóêåõáóßá ôùí 10 ôåìá÷ßùí

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3590-040 ÖÅËÏÓ 4,0cm
3590-045 ÖÅËÏÓ 4,5cm
3590-050 ÖÅËÏÓ 5,0cm
3590-055 ÖÅËÏÓ 5,5cm
3590-060 ÖÅËÏÓ 6,0cm
3590-070 ÖÅËÏÓ 7,0cm

Ìå ïõñÜ

Mç÷áíÞò

edipo 4-3.qxd  21/1/2008  6:01   Page 57



58

ÐÑÉÏÍÏÔÁÉÍÉÁ ÁÕÓÔÑÉÁÓ MARTIN MILLER3600

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3600-106 10x0,6 L  6mm
3600-156 15x0,6 L  7mm
3600-205 20x0,5 L  5mm
3600-206 20x0,6 L  6mm
3600-207 20x0,7 L  8mm
3600-257 25x0,7 L  9mm
3600-258 25x0,8 L  9mm
3600-308 30x0,8 L10mm
3600-358 35x0,8 L11mm
3600-359 35x0,9 L11mm

ÐÑÉÏÍÏÔÁÉÍÉÁ ÓÏÕÇÄÉÁÓ UDDEHOLM3800

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3800-156 16x0,6  L   7mm
3800-206 20x0,6  L   6mm
3800-207 20x0,7  L   8mm
3800-257 25x0,7  L   9mm
3800-258 25x0,8  L   9mm
3800-308 30x0,8  L 10mm
3800-358 35x0,8  L 11mm
3800-359 35x0,9  L 11mm
3800-409 40x0,9  L 12mm
3800-501 50x1,0  L 14mm

ÐÑÉÏÍÏÔÁÉÍÉÁ HOOK - ÎÕËÏÕ3610

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3610-002 25x0,9 Z2
3610-044 30X1,1 Z2
3610-003 13x0,65 Z3
3610-004 16x0,8 Z3
3610-005 20x0,8 Z3
3610-001 25x0,9 Z3
3610-045 30X1,1 Z3
3610-02 6x0,65 Z4
3610-03 10x0,65 Z4
3610-05 16x0,8 Z4
3610-06 20x0,8 Z4
3610-07 6x0,65 Z6
3610-08 8x0,65 Z6
3610-09 10x0,65 Z6
3610-10 13x0,65 Z6
3610-12 16x0,8 Z6
3610-14 20x0,8 Z6
3610-11 13x0,65 Z8
3610-13 16x0,8 Z8
3610-15 20x0,8 Z8
3610-16 25x0,9 Z8
3610-17 25x0,9 Z14

edipo 4-3.qxd  21/1/2008  6:03   Page 58



ÐÑÉÏÍÏÔÁÉÍÉÁ ÎÕËÏÕ STARRETT - WOODPECKER 3613

ÐÑÉÏÍÏÔÁÉÍÉÁ ÊÑÅÁÔÏÓ STARRETT - MEATKUTTER 3614

59

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3613-  6-0,50-4 6x0,5     Z4 C51
3613-10-0,55-4 10x0,55 Z4 C51
3613-13-0,55-4 13x0,55 Z4 C51
3613-16-0,55-3 16x0,55 Z3 C51
3613-19-0,70-3 19x0,70 Z3 C51
3613-25-0,60-3 25x0,60 Z3 C51
3613-25-0,90-2 25x0,90 Z2 C51

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3614-16-0,55-4 16x0,55 Z4
3614-19-0,50-3 19x0,50 Z3

edipo 4-3.qxd  21/1/2008  6:03   Page 59



60

ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ HSS 18%3230

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3230-303 300 x 30 x 3
3230-353 350 x 30 x 3
3230-403 400 x 30 x 3
3230-413 410 x 30 x 3
3230-503 500 x 30 x 3
3230-513 510 x 30 x 3
3230-523 520 x 30 x 3
3230-533 530 x 30 x 3
3230-603 600 x 30 x 3
3230-633 630 x 30 x 3

ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ HSS 18%3235

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3235-353 350 x 35 x 3
3235-403 400 x 35 x 3
3235-413 410 x 35 x 3
3235-503 500 x 35 x 3
3235-513 510 x 35 x 3
3235-523 520 x 35 x 3
3235-533 530 x 35 x 3
3235-603 600 x 35 x 3
3235-633 630 x 35 x 3

ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ HSS 18%3220

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3220-1203 1200 x 20 x 3

ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ HSS 18%3225

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3225-1203 1200 x 25 x 3

edipo 4-3.qxd  21/1/2008  6:03   Page 60



ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ DS - SP 3030

ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ DS - SP 3035

61

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3030-303 300 x 30 x 3
3030-353 350 x 30 x 3
3030-403 400 x 30 x 3
3030-503 500 x 30 x 3
3030-533 530 x 30 x 3
3030-603 600 x 30 x 3
3030-633 630 x 30 x 3

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3035-353 350 x 35 x 3
3035-403 400 x 35 x 3
3035-503 500 x 35 x 3
3035-533 530 x 35 x 3
3035-603 600 x 35 x 3
3035-633 630 x 35 x 3

ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ HSS COBALT 3330

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3330-303 300 x 30 x 3
3330-353 350 x 30 x 3
3330-403 400 x 30 x 3
3330-503 500 x 30 x 3
3330-603 600 x 30 x 3
3330-633 630 x 30 x 3

ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ HSS COBALT 3335

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3335-353 350 x 35 x 3
3335-403 400 x 35 x 3
3335-503 500 x 35 x 3
3335-603 600 x 35 x 3
3335-633 630 x 35 x 3

edipo 4-3.qxd  21/1/2008  6:04   Page 61



62

ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ BINTIA3430

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3430-103 100 x 30 x 3
3430-113 110 x 30 x 3
3430-123 120 x 30 x 3
3430-133 130 x 30 x 3
3430-143 140 x 30 x 3
3430-153 150 x 30 x 3
3430-163 160 x 30 x 3
3430-173 170 x 30 x 3
3430-183 180 x 30 x 3
3430-203 200 x 30 x 3
3430-213 210 x 30 x 3
3430-223 220 x 30 x 3
3430-233 230 x 30 x 3
3430-243 240 x 30 x 3
3430-303 300 x 30 x 3
3430-353 350 x 30 x 3
3430-403 400 x 30 x 3
3430-503 500 x 30 x 3

3430-075 75x18x3   BOSCH
3430-085 82x28x3 HITACHI
3430-082 82x28x3  MAKITA
SL-A* BAÓÅÉÓ   ÌÁÊÉÔÁ
SL-KF* ÂÉÍÔÉÁ    ÌÁÊÉÔÁ

ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ BINTIA3435

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3435-353 350 x 35 x 3
3435-403 400 x 35 x 3
3435-503 500 x 35 x 3

edipo 4-3.qxd  21/1/2008  6:04   Page 62



ÌÁ×ÁÉÑÉÁ ÌÅ ÑÁÂÄ. 50mm 3150

ÌÁ×ÁÉÑÉÁ ÌÅ ÑÁÂÄ. 60mm 3160

63

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3150-080 80 x 50 x 8
3150-120 120 x 50 x 8
3150-150 150 x 50 x 8
3150-170 170 x 50 x 8
3150-650 650 x 50 x 8

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3160-130 130 x 60 x 8
3160-150 150 x 60 x 8
3160-170 170 x 60 x 8
3160-650 650 x 60 x 8

ÌÁ×ÁÉÑÉÁ ÌÅ ÑÁÂÄ. 70mm 3170

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3170-150 150 x 70 x 8
3170-650 650 x 70 x 8

edipo 4-3.qxd  21/1/2008  6:04   Page 63



64

ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ TERSA 13% Cr3010

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3010-115 115 x 10 x 2,3
3010-185 185 x 10 x 2,3
3010-230 230 x 10 x 2,3
3010-500 500 x 10 x 2,3
3010-510 510 x 10 x 2,3
3010-520 520 x 10 x 2,3 
3010-530 530 x 10 x 2,3 
3010-630 360 x 10 x 2,3

ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ TERSA M423310

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3310-115 115 x 10 x 2,3
3310-185 185 x 10 x 2,3 
3310-230 230 x 10 x 2,3 
3310-500 500 x 10 x 2,3 
3310-510 510 x 10 x 2,3
3310-520 520 x 10 x 2,3 
3310-530 530 x 10 x 2,3 
3310-630 630 x 10 x 2,3 

ÌÁ×ÁÉÑÉÁ ÐËÁÍÇÓ TERSA ÇSS Co3210

ÊÙÄÉÊÏÓ ÐÅÑÉÃÑÁÖÇ
3210-115 115 x 10 x 2,3
3210-185 185 x 10 x 2,3
3210-230 230 x 10 x 2,3 
3210-500 500 x 10 x 2,3 
3210-510 510 x 10 x 2,3 
3210-520 520 x 10 x 2,3 
3210-530 530 x 10 x 2,3
3210-640 640 x 10 x 2,3

edipo 4-3.qxd  21/1/2008  6:04   Page 64



2
1
0
 9
2
1
2
4
4
6

m
o
s
tr
a

HARTMETALL

ÂÉÌÇÊÅ ÁÂÅÅ

ÊÁÔÁÓÊÅÕÇ & ÅÌÐÏÑÉÁ ÊÏÐÔÉÊÙÍ ÅÑÃÁËÅÉÙÍ
ÅÄÑÁ: ÖÉËÉÊÙÍ 5, 121 31 ÐÅÑÉÓÔÅÑÉ

ÅÑÃÏÓÔÁÓÉÏ: ÊÑÕÓÔÁËËÇ 28, 121 31 ÐÅÑÉÓÔÅÑÉ
ÔÇË.: 210 5751920 • FAX: 210 5773469

www.bimike.gr • info@bimike.gr


	1-14.pdf
	15-34.pdf
	35-54.pdf
	55-64.pdf



